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g AUt ok 40 feshe Qe AEROT 9ot o 160 feshe; eifueman @9 =Rs 136000.
A¥: 10,50 340 THESE B ¥ : 50, 0 3T 0ShEAT H891: D, E SRF 1 Sl St
% 9 a9 T = Rs 510

A :500, 300037 3500 <fiex; BH: 4000, 0 3R 0 wfieX &t o9 D, E 3R F i
STt S © qe <A god = Rs 4400

. PURR o 40 &t SR QUHR ok 100 &et; ESIeH ki =<[AqH T = 470 kg.
. PUHR o 140 &l 3R Q TR o 50 9t geis w1 SAferehad aml = 595 kg.
. AR ST 800 TfEA SR B WhR 1 400 Tfgdl; tfushad o9 = Rs 16000

| wommaett 13.1 |
2 1 _le6

. P(E|F):3,P(F|E):3 2. P(A|B)_25
. () 032 (i) 0.64 (iii) 0.98

11

26

4 4 2
O i) = (i) 3

1 3 .6

i 3 i) (i)
O i) 0

1 9. 1 10 1 =

p . - (a) 3 (b) 9

L1 o102 L 31

73 W73 w33



12.

14.

11.

12.

14.
17.

13.

STTHTA 625

(1) 1 (i1) 1 13
1 - 11 - «
2 3
L 15. 0 16. C 17. D
T ) ) )
| wrommarett 13.2 |
3 5 2 ; 4“4
25 " 102 " 91
A 3R B WER @dd B 5. A 3IRBTER @ad & 2

E 3R F &R @a7 78l ¢

. _ 1 .. 1
O 0 (i) p 5
. (@) 0.12 (i) 0.58 (i) 0.3 (iv) 0.4

3 N

T 10. A 3R B WER s &l 2l
() 0.18 (i) 0.12 @i 0.72 (iv) 028

7 o 16 20 40

. () gy (i) gy G 7

N P B B |
(i) 5. Gi) SONG) NOFNOENOR-
D 18. B

| wgTerett 13.3 |

1 2 9 12
- 2. = 3. — 4. —=
2 3 13 13
22 P ;L g 1
133 "9 p) © 4
2 0. = n = 12, =
9 1 © 34 50
A 14. C
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4. (i)

(if)

(iii)

5. ()

(i)

8. (i)

| Tttt 13.4
1. (i), (iii) 3R (iv) 2. X=0,1,2;8 3. X=6,4,2,0
X[ o] 1] 2
P(X) 1111
4| 2| 4
X| ol 1] 2] 3
P(X 11 3] 31
Xl 5] 5| 5| 3
X[ o] 1] 237 4
1| 1| 31| 1
PN 6|l 2] 8|2 |T6
X[ of 1] 2
P(X) 41 411
91 91| 9
X | o 1
reo| 2| 2
X 3] 36
X| o]l 1| 2| 3| 4
brx 256| 256( 96 | 16
Xl 625| 625| 625| 623 625
X
9 6| 1
P =| —=| =
16| 16| 16
1 . 3 17
k=— i) P(X<3)=— ) P(X>6)=—
n (i) P( ) 0 (1)) P( )100

(iv)

3
P(0<X<3)=
( ) 10



9. (a) k:é (b) P(X<2):;,P(X£2)=1,P(X22):;

STACHTT 627

1 14

10. 1.5 1n. - 12. —

3 3

13. Var(X)=5.833,8.D=2415

14. X [l 5] 16| 17] 18] 19| 20] 21
2 1t 23] | 2 3] 1
PX) == =|=| = =| =| =
15015 15| 15| 15] 15| 15| 15

1A = 17.53, Var(X) = 4.78 3 S.D(X) = 2.19

15. E(X)=0.7 3R Var (X) = 0.21 16. B
| wrereRt 135 |
.3 L ... 63
1. (i) 12 (i1) o (ii) o
= @
216 ~ 20/ 20
Lo 45 243
SACRRTYY W 53 D T2
5. (i) (0.95) (i) (0.95)*x 1.2 (i) 1- (0.
(iv) 1-(0.95)
9 4 1 20
6. (F)) 7. (5) [20C, + 2C,y + ..+ 2°Cyp |
11
243

vo B i e

100 2 100
11 l(ijs 12 E[ET 13 2x9
" 12\6 " 18\6 0

14. C 15. A

17. D

95)* x 1.2

99 49
[



628 T

T 13 Uv fafaer gyv-raeit

1. () 1 (i) 0
5 1 1
° (l) 3 (11) 2
20 10
3. — 4. 1-¥19C (09 (0.
5. (i) (2j6 (ii) 7(2j4 (iii) 1 [zjé @iv) ke
. 1 - 11 - 11 e e 1v -
5 5 5 3125
51 625
6. %6 7. 23308 8.
9 31[2T 10. n>4 11 21
" 9\ 3 s e T 54
12 1238 13 14 14 El
" 1575715 T 29 " 16
. . 16
15. (i) 0.5 (i) 0.05 16. 37

17. A 18. C 19. B





